o[ Practice time )
1. Join Suzy and Jerry at the shopping mall

* Listen to Jerry and Suzy. Why is Jerry making a face? Tick what's wrong with:

- the jeans: X the style ) the price [ the color
-suit n® 1: [ the style [ the price  Xthe color
-suitn® 2: [ the style [l the price ~ X(the color
-suitn®3: CJthestyle M the price [ the color

* Now, listen again and explain.

You: Jeans are wrong because...

Jerry doesn't like the first suit because it’s... and...

Jeans are wrong because it's too casual for a wedding.

Jerry doesn't like the first suit because it's black with stripes.
Jerry doesn't like the second suit because it's navy blue.

Jerry likes the third suit because it's grey but it's too


Jeans are wrong because it's too casual for a wedding.
Jerry doesn't like the first suit because it's black with stripes.

Jerry doesn't like the second suit because it's navy blue.
Jerry likes the third suit because it's grey but it's too expensive.


